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Time:

Fluid Nodal Welocity
Magnitude
tis

264.2881
T 237.8503
211.4305
185.0017
155.5728
132,149
057152
7928642
5285762
- 2642881

Time Step: 250 25
Maximurm Yalue: 264 288 ft/s
Minimurn value; 0 ftis

4 = Unsteady State Fluid >
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Unsteady state. 58% Tet mesh, automatic refinement points. 0.003 Velocity and
Pressure Norm. Perform max iterations. Convergence tolerance 0.01. This looks
good!
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Current Time Step = 10 -

Part: 2. Element: 9. Face: 6 (Hodes: 53290, 47409,
Current Result Valus: 4. 050417614e-013 Btuss

Part: 2 FElement s 14 Face:s 1 (Nodes= 4081, 49751 ¢ [FE

Current Result Value: 3.687576826e—017 Btuss o

Part: 2. Element: 16, Face: 6 (Hodes: 66229, 60525,

Current Result Value: 6.12149131%9e-015 Btuss

Part: 2. Element: 28, Face: 1 (Nodes: 6430, 47399, -

Current Result Value: 2. 47144025e-013 Btu-s

Part: 2. Element: 30, Face: & (Hodes: 59820, 53986,

Current Result Value: 1.126446807=-013 Btuss

Part: 2, Element: 34, Face: 3 (Hodes: 4552, 4551,_:1]LI
»
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Sumnary:  [TEER ] |FE074577a3e014
W Include resuls fom hidden elements
Clear ] Save Values...] Save To Repo\, Specify... _J Help J N .
Heat rate through
face looks real
Time: 1.5

Time Step, 10 8t 10

raximum
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low. Transient ’II
heat ransfer F
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Minimum ‘alue: -8 4645e-013 Btuss

5« Transient Heat >

0,000 0220 # 0458 0858

Fluid Nodal Welocity
Magnitude
iz

3002902
2783603
247 4394
216.5095
185.5795

53 606

With 0.4 ID, 0.5 OD Tube (tube
turned off during fluid analysis)

11 dead elements, 1 dead node
No velocity in "blue" areas

How are these
turned off?




